F2EEFR]/INS 7 —F 1) —EiFm &R RS0

BE $H3F11H288 =% &FRBHHEAENVENRSE

215

mE(vvry| @R | K % moOR B [TOTAL Tos% | 9= | & =
10/ 10A [BBBF|#H BHUEBE [#rE7Hs 1T 1187 3 1 |40cmm
6| 6B [CPB%|EI |- |BAHTYHS 1 {243 | 2 12 |40cmm
1| 7B |CPBL|EE HF |[BEHTES 2 12431 0 | 12 |[40cmm
6| 6 A |CPEL[EER KB |EEHrHs 3 | 241 1 12 [40cmi
Tl 7A |CPBEL{ELAR EH |[#EG7H: 4 11921 0 Q0 |40cmm
3| 3B |CPB%Z|EN BE |(mEDTHS 1 12701 4 27 |=-o8Bm

4| 4A |[CPEZ|=EIL BA— [BRT7HA 2 1269 6 18 |=oB®

3| 3A |CPBEX|EER IN— |BEWTHE 3 1257 1 14 |=>8m

hl 5A |CPEL|FEH =— |REH7HS 4 (250 2 | 17 |=o8m

4| 4B |CPEx|\& K |mEmTHa h 1243 ] 3 | 13 |==8m

8| 8A |SEZX s Em  |mmmrma 1 12381 1 | 16 |40cme
8| 8B |SLFX|uE 27 |mmwrmz 2 11911 0 0 |40cm
9 oA |SEZX M mieT [mmmrms 3 1173 1 6 |40cmm
9| 9B |SEZ¥ |1 KT |mEwrma 4 11611 3 | 0 |40cmm
1 1A |RCBFHERAKR £ | G wEBUEAHR 1 12571 9 8 |40cmm
2| 2B [RCEF IR HE |z2EE7Hs 2 11721 2 3 [40cmi
11 1B |RCEF|IEM hE |sF7—Fzu-237| 3 | 170 3 1 |40cmm
2| 2A |RCEF|RES B BEAT T IRA 4 1142 | 1 ? |40cmiy
10{ 108 |RSEF|mh i |wsmsmarme | 1 | 243] 3 | 11 |[40cmim
M 1A |SREFeR 28 |ssmsmarez | ] | 226] 3 | 4 |40cmm

BRIRE B RER - EXK BX - BR EEH - TE & 4%




